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32.E1R8 1 1; 0: 0: 0: 0 2.3
33:[ LR 4 3i 14 0: 0 0 2.1
34 ME 7 6! 1} 0} 0: 0 3.6
EFERT=]! 8 51 14 0: 0 0 2.9
36:EER 4 4 0 0 0 0 1.3
TR 3 2i 0 1 0: 0 40
3 EIER 3 3 0! 0: 0: 0 0.7
39S HER 0 0 0 0: 0! 0 0.0
404EME 11 8i 1: 2: 0! 0 3.4
41:EEE 3 2 1: 0: 0! 0 3.4
42 R E 6 3 0: 0! 0! 3 13.5
43:8EXR R 8 5! 3! H 0 0 3.5
44 XHR 7 61 0 13 0! 0 2.6
45 =R 3 3i 0: 0: 0 0 1.7
46.ERBR 8 61 IR 1 0! 0 3.9
47:EE . 4 4 0! 0: 0! 0 3.3
By 314 212; 77 14 1: 10 3.8
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- B 2-59 [REREHER] MEFRIBENBRIEOTHHHRRER (VERLEARE)

DEFUAE S S 0T S BERE (HRERR)
0.0 3.0 6.0 90 120 15.0
01335 B(n=12) 26 :

02:F B (n=3) ) ' 73
0335 F R (n=5) 38 '
04 E IR (=3) 20 |
055k A (h=4) 35
061U B (n=4) 23,
07 RR0=7) | 44 .
08: IR (n=9) 27
09:4F AR (n=3) 5.3
10 B B(N=5) 6.2
N ERMN=12) 34
12T ERRN=T) 5.2
133 BUER(n=42) ] 39
14:4EE )1 R (n=12) 34
158 FR(h=0) 0.0 |
16:2 IR (=1) 20 |
17:5 ] R(n=2) 35
18:4@F R (=1) 1.0 . . _
191 R R (n=2) ] 107
20:R 58 (n=8) 5 '
21:1 B (n=6) 2.3 :
22:55 M2 (n=8) 33
23:ZHR(n=16) _ 54
24: = FE(n=6) 34
2558 E R (n=3) 1.7 [
26: T BT (n=6) _ 36
27K MR AFn=24) 40
28:EFER(h=18) 32
29 EREB0O=2) 5.0
308N LR (n=2) 12
3EREM=3)
IZSHREM=1) _______FK]
33 LR (n=4) 2.1
MEEEN=T) 348
3541 AR (n=6) ’
3618 55 (h=4) 1.3
37N (n=3) 40
3B EIBR(n=3) 0.7
39 EMBEMN=0) |00
4048 E Rn=11) . .4
414 B R(n=3) 34
42: R R (n=6) i 135
43824 R (n=8) i 25 :
44K 52 00=7) I 26
45:ZIH R (n=3) 17
46:FE R BE(h=8) I ) __ 38

475 R (n=4) 33 ! ! :
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Bk 2—60 [REHRMEMER] HEMFRIBENRE OTHENHERBRE LRI B ERHENR
ODERRENEE)

DEFULE MR RO TS BERFRBRAERRAR
0% 0%  20% 30% 40%  50%  60% 70% 80%  90%.  100%

01:AbiEE (=12)
02 EHE(n=3)
03:EF R (n=5)
04 FHIR(n=3)
05:&k B B (n=4)
06:{Ufz B (h=4)
07 B R(0=7)
08: X RIR (h=0)
09: R R R (n=3)
10:EER(h=5)
1133 ER=12)
12 FERMN=7
13 W B HR(n=42)
1445118 (n=12)
15:51RE(n=0)
16:3 IR (h=1)
178IIRN=2)
18EHEM=1)
19: 1 FIR(n=2)
20:EFF IR (n=8)
21 B2 (n=6)
22: 5 ER (n=8)
23 BB (=16)
24: = FIR(n=6)
25 B R(n=3)
26: FRABRF(n=6)
27-KIEAF(n=24)
28: EEIR(n=18)
20 BB (n=2)
30:H TR B (n=2)
3B (n=3)
32: 2R (h=1)
33 LR =4
34 EERN=T)
351U A8 {n=6)
36 S E (=)
ITEINEN=3)
3R ER=3) : : . .
39: 2 HIR(n=0) | i ) | : : : : :
407BH B(n=11) : - : . : : 777
4 4B B (n=3) :
A2 RIFHE(n=6)
43 HERIR (n=8)
44K 53R In=T)
45; 2 IR 5 (n=3) - - :
46 RBR(M=8) [ : E— : : : T 77777
475 (n=4) [ : : : : : : : : .
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